NS 15 - SIRODES]
’ﬁﬁ mekLeLedLcm *mlDZEHIhA

Bem®E2 0

2 HTIFEL HKZ EZFEL &£ D,

(1) 500000cm’ = 0.5 |m
m cm
O|5|61+010+0

BB EN O DOBIEE AN AL

(2) &m = 38000 (L

m

Im=100cm, H&FEITH X 8 X RSB0 T
100cmX100cmX100cm=1000000cmic%i %
0#62)

D

—

| m*=1000L= kL

8101010 (It 1L @ 1000 #)

(3) 4L = 4000 |cem

IL=10cmX QcmX |0cm=1000c m*ic % %
0#32)

4 O O O IL=1000cm*=1000mL
(cme mLARLHEEBIFABEDAUPT L)

kL lkL=1m"=1000L

(kL EMARLIZEBIFAD EDAYPRT )

(5) 60mL = 60 [em

cm
mL|l |ImL=Ilcm’
6 O (ML & cmARLEEBIEADZEDAYPT )

OHE>EFEEFVX
TDTI)YMME TESEERFT YR TEHALADYO—RTEEXT, https://ouchigakushu.com/  [a]




